
  
Business Mathematics Model Set 2014 

 
Unit – I (Progression) 

 
 
 
I) cgqfodYih; iz’u ¼Multiple choice questions½ 

1. vuqØe 10] 5] 0] &5] &10] --------------- dk 10okW in Kkr dhft,A 
Find the 10th term of the sequence 10, 5, 0, -5, -10, ………….. 

 

 (i)  30 (ii)  35 (iii)  -35 (iv)  25  
2. lekUrj Js<+h 1] 3] 5] 7] --------------- 99 esa fdrus in gS \ 

How many terms are threr in A.P. 1, 3, 5, 7, ……….. 99 ? 
 

 (i)  40 (ii)  30 (iii)  50 (iv)  45  
3. lekUrj Js<+h 1] 3] 5] 7] 9] ---------------- dk dkSu lk in 65 gksxk \ 

Which term of the A.P. 1, 3, 5, 7, 9 …………………. Is 65 ? 
 

 (i)  23 (ii)  33 (iii)  43 (iv)  40  
4. nks vadksa dh fdruh la[;k,¡ 7 ls foHkkT; gS \ 

How many numbers of two digits are divisible by 7 ? 
 

 (i)  10 (ii)  12 (iii)  13 (iv)  7  
5. vuqØe 5] 14] 23] ------------------ dk 27okW in fuEukafdr esa dkSu gS \ 

Which is the 27th term of the sequence 5, 14, 23, ………….. ? 
 

 (i)  239 (ii)  100 (iii)  101 (iv)  900  
6. ;fn fdlh A.P. esa 3 5n nt = + ] rks bl A.P. dk inkUrj gksxk & 

In an A.P. if  3 5n nt = + , then the common difference will be - 

 

 (i)  1 (ii)  2 (iii)  3 (iv)  4  
7. ;fn fdlh A.P.  dk 6okW rFkk 12okW in Øe’k% 13 vkSj 25 gks rks bldk 20okW in gksxk & 

In an A.P. if 6th and 12th terms are 13 and 25 then its 20th term will be - 
 

 (i)  41 (ii)  39 (iii)  43 (iv)  37   
8. lekUrj vuqØe 2] 5] 8] 11] -------------- dk 10okW in gS & 

10th term of the A.P. 2, 5, 8, 11, ……………. 
 

 (i)  47 (ii)  33 (iii)  37 (iv)  29   
9. ;fn ,a 1,a + 3,a + . .G P  esa gksa rks adk eku %  

If  ,a  1,a +  3,a +  are in . .G P then the value of  a  : 
 

 (i)  2 (ii)  1 (iii)  4 (iv)  buesa ls dksbZ ugha   
10. 1 3 7 15

.................
2 4 8 16

n+ + +  inksa rdA  

 (i)  2 1n
−  (ii)  2 1n n− −  (iii)  1 2 n−

−  (iv)  2 1n n−
+ −   

11. 4, 12, 36, ………….. dk ik¡pok¡ in %&  
 (i)  332 (ii)  348 (iii)  324 (iv)  buesa ls dksbZ ugha   

12. ;fn if  
a c

b d
=  vkSj and , ,a b clekUrj ek/; esa gSa ¼are in A.P.½ rks ¼then½ , ,b c d  are in :-  

 (i)  A.P. (ii)  G.P. (iii)  H.P. (iv)  buesa ls dksbZ ugha   
13. ;fn la[;k,¡ a,b,c l0Js0 esa gksa vkSj b,c,d g0Js0 esa rc]  

If the numbers a,b,c are in A.P. and b,c,d in H.P. then, 
 

 (i)  ad=bc (ii)  ab=cd (iii)  ac=bd (iv)  buesa ls dksbZ ugha   
14. vuqØe 5]7]9]11 --------- dk dkSu lk in 27 gksxk % 

Which term will be 27 of the sequence 5,7,9,11,………. 
 

 (i)  13th  (ii)  12th  (iii)  11th  (iv)  10th   
15. 1+2+4+8+……..12 inksa rd dk ;ksxQy Kkr djsaA  



Find the sum of the series 1+2+4+8+…………to 12 terms. 
 (i)  3095 (ii)  4095 (iii)  3695 (iv)  4025  
      

For 8 marks 
1. rhu vadksa okyh la[;k ds rhu vadksa dk ;ksx 12 gS rFkk mlds rhu vad lekUrj Js.kh esa 

gSaA ;fn vadksa dks myV fn;k tk;s rks la[;k esa 396 dh deh gks tkrh gSA la[;k Kkr 
dhft,A 
The sum of digits of a three digit no. is 12 and the digits are in A.P. If the digit are 
reversed then the no. is diminished by 396. Find the no. 

 

2. 100 vkSj 400 ds chp 7 ls foHkkftr gksus okys iw.kkZadksa dk ;ksx Kkr dhft,A 
Find the sum of all integers between 100 and 400 which are divisible ny 7. 

 

3. 500 vkSj 1000 ds chp izkd`frd la[;kvksa dk ;ksx Kkr dhft, tks 13 ls foHkkftr gks 
tkrh gSaA 
Find the sum of all natural numbers between 500 and 1000 which are divisible by 13. 

 

4. ^v* 4800 #0 dk _.k 24 ekfld fdLrksa esa pqdkuk pkgrk gS tks ,d lekUrj Js.kh 
cukrk gSA 20 fdLrsa pqdkus ds ckn ^v* fnokfy;k gks tkrk gS rFkk _.knkrk ikrk gS fd 
vHkh 1200 #0 dk _.k 'ks"k jg x;k gSA igyh pkj fdLrksa dh /kujkf’k Kkr dhft,A 
‘A’ arrange to pay off a debt of Rs. 4800 in 24 monthly installment which form an A.P. 
After 20 installment, A become insolvent and his creditors finds that Rs. 1200still remain 
unpaid. Find the value of first four installment. 

 

5. fdlh xq.kksÙkj Js.kh dk pkSFkk in 40 gS rFkk nlok¡ in 2560 gSA lkrok¡ in Kkr djsaA 
Fourth term of a G.P. is 40 and the tenth term is 2560. Find the seventh term. 

 

6. jkf'k;k¡ ,8, ( )x y x y≠ xq.kksÙkj Js.kh esa gSa rFkk jkf’k;k¡ , , 8x y −  lekUrj Js.kh esa gSaA xrFkk y    
dk eku Kkr djsaA 
Quantities ,8, ( )x y x y≠  are in G.P. and  , , 8x y −  in A.P. Find the value of  x  and y  .     

 

7. G.P. esa rhu ykxkrkj la[;kvksa dk xq.kuQy 216 gS vkSj mlesa ls nks&nks ysdj izkIr 
xq.kuQyksa dk ;ksx 156 gS rks la[;k,¡ fudkysaA 
If the continued product of three numbers in G.P. is 216 and the sum of their products in 
pair is 156. Find the numbers. 

 

8. xq.kksÙkj Js.kh dh rhu Øekxr la[;kvksa dk ;ksx 35 gS vkSj mudk xq.kuQy 1000 gSA 
la[;k,¡ Kkr djsaA 
The sum of three consecutive numbers in G.P. is 35 and their product is 1000. Find the 
numbers. 

 

9. n inksa dk ;ksx Kkr dhft, & 
Find the sum to the n terms : 
5+55+555+……………… 

 

10. ,d H.P. dk 7okW in 1

20
rFkk 13okW in 1

38
 gS rks bldk pkSFkk in Kkr dhft,A 

Find the 4th term of an H.P. whose 7th term is 
1

20
 and 13th term is  

1

38
 . 

 

11. ,d gjkRed Js.kh dk 6okW in 1 gS rFkk 10okW in 5 gSA Js.kh Kkr dhft, rFkk Js.kh dk 
15okW in Kkr dhft,A 
Find the H.P. whose 6th term is 1 and 10th term is 5. Find the series and 15th term of the 
series also. 

 

12. 1 vkSj 16 ds chp H.Ms jf[k,A 
Insert H.Ms between 1 and 16. 

 

13. ;fn a,b,c H.P. esa gS rks fl) dhft, fd % 
If a,b,c, are in H.P., prove that : 

 

 (i)  2 2 22a c b+ 〉  (ii)  5 5 52a c b+ 〉   



14. ;fn 1

3
,a,b,cd,e,f,g,432 xq.kksÙkj Js<+h esa gSa rks c vkSj e dk xq.kuQy Kkr dhft,A 

If  
1

3
,a,b,cd,e,f,g,432 are in G.P., then find the product of c and e. 

 

15. nks la[;kvksa ds chp dk lekUrj ek/; 20 rFkk xq.kksÙkj ek/; 16 gS rks la[;k,¡ Kkr 
dhft,A 
If the arithmetic mean and feometric mean between two numbers are 20 and 16 
respectively, then find the numbers. 

 

 
 


